H & 0l & AHS B Ml A

FA SIS
. Lo=s1sd
oelr LOISX 20X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 146,646,041 136,835,824 9,810,217
= 86,178,354
[ 3,005,723
Jl 60,486
< 14,276,861
Al 43,124,617
Ll e NS 109,665, 105 101,038,219 8,626,886
= 71,452,578
s 1,677,299
Il 5,100
= 9,170,657
Al 27,359,471
LIS 20X 88,501,916 83,108,369 5,393,547
= 71,309,330
s 1,677,299
s 2,767,736
Al 12,747,551
=3 Na 69,324,530 65,233,637 4,090,893
= 62,393,256
= 1,386,255
Al 5,545,019
301 EetE2 NS 69,324,530 65,233,637 4,090,893
= 62,393,256
= 1,386,255
Al 5,545,019
01 Al EE AT Z(2DEXR) 69,324,530 65,233,637 4,090,893
OJIx==(17,6009) 69,324,530,000& 69,324,530
= 62,393,256
S 1,386,255
Al 5,545,019
Coldxiel & AMRESKE Si(aLXel X A 14,620,538 13,534,530 1,086,008
s X X&)
= 7,310,269
= 1,096,541
Al 6,213,728
307 elztol & 14,620,538 13,534,530 1,086,008
= 7,310,269
[ 1,006,541
Al 6,213,728
11 AMEISXIAEEES 14,620,538 13,534,530 1,086,008
OLoldntel & Asl&=sXI(2,867%)
14,620,538,000& 14,620,538
= 7,310,269
& 1,006,541




FA SIS
Hm: Lol=X|SX
oelr LOISX 20X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 6.213,728
ColgTtel U ABIEENR (YT L A 691,610 650,760 40,850
28 dgog o)
= 345,805
= 51,870
Al 293,935
307 @120l & 691,610 650,760 40,850
= 345,805
= 51,870
Al 293,935
10 Al SAAEEHE 22X 691,610 650,760 40,850
O=e|2agel=l 0121H((23)
691,610,000& 691,610
= 345,805
= 51,870
Al 293,935
HAHSH(=AAIE) 1,400,000 1,340,000 60,000
= 1,260,000
= 98,000
Al 42,000
307 elztol & 1,400,000 1,340,000 60,000
= 1,260,000
< 98,000
Al 42,000
11 AMEISXAEEE 1,400,000 1,340,000 60,000
OAH 204 (L= 1Al &) (3502)
1,400,000,000& 1,400,000
= 1,260,000
< 98,000
Al 42,000
COIFESSANHIAAY K& 2,223,400 2,185,700 37,700
= 1,556,380
[ 100,053
Al 566,967
307 glztol & 2,223,400 2,185,700 37,700
s 1,556,380
== 100,053
Al 566,967
11 AMRISXAEEES 2,223,400 2,185,700 37,700
O eStESsAHIA(1,3819)
2,223,400,000& 2,223,400
= 1,566,380
=S 100,053
Al 566,967




2A: A=
Hm: Lol=X|SX
o Lol=sXl S0XH (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SHLO SZHEAIMEIA KR 141,790 127,942 13,848
= 70,8%
Al 70,8%
307 212+01™ 141,790 127,942 13,848
= 70,8%
Al 70,8%
10 Al S XA EEHE2IHIE X 141,790 127,942 13,848
OSHEO SSOHEA MHIAAY XA (632
o) 141,790,000& 141,790
= 70,8%
Al 70,8%
LOIQUANS EF(DIIsEY) 80,000 0 80,000
= 40,000
& 28,000
Al 12,000
402 QI2+R=01H 80,000 0 80,000
iy 40,000
T 28,000
Al 12,000
02 QIZIXEAEEE(OIMTHE) 80,000 0 80,000
OLIAAM 2#E(0IsE2)(1HL)
80,000,000 80,000
ax 40,000
& 28,000
Al 12,000
FIIRI|2 2IIAd &X 20,048 35,800 A15,752
= 10,024
& 7,017
Al 3,007
402 QI X201 A 20,048 35,800 A15,752
= 10,024
& 7,017
Al 3,007
02 QIZEXHE2 A 2 Z (01 TH &) 20,048 35,800 A15,752
OFIIQUI| 2 &AL &XI(3MA)
1,432,000 = 14CH 20,048
= 10,024
& 7,017
Al 3,007
LOI=X BRI 19,582,682 16,485,620 3,097,062
| 5,100
& 6,271,063
Al 13,306,519
Lol=xa 29 1,238,136 1,090,840 147,2%




2A:

Hm: Lol=X|SX
Rl ==X eI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 57,000
Al 1,181,136
307 lztol & 1,238,136 1,090,840 147,296
= 57,000
Al 1,181,136
05 212t =S 1,238,136 1,090,840 147,296
OLelsX2 A (el2]) 953,971
-=0{(18%) 673,601,000& 673,601
s 57,000
Al 616,601
—Hl==E(18¢) 125,055,000 125,055
-EINAES 66,558,000& 66,558
A28 R8s 85,157,000& 85,157
-J|Et= 43| 3,600,000& 3,600
OLoI=EX2 2(&(22Hl)
284,165,000 284,165
CoI=EX2 S SAK M| 11,400 10,200 1,200
= 11,400
301 22N = 11,400 10,200 1,200
[ 11,400
03 A2 E A0S (XILTHH) 11,400 10,200 1,200
LoISA2 S SAL XM2IME8|
50,0002« 19122 11,400
s 11,400
COISXIAIE RAl2e 15,600 10,000 5,600
201 eer23y| 5,600 0 5,600
01 AtR2t2lHI 5,600 0 5,600
OAtISAIAE g3 S8 A7 =&
100,000 x4 2 +7 2 +23] 5,600
401 AIEHIZ SR 0HYI 10,000 10,000
01 Al&HI 10,000 10,000
OLQ=TAIE FXl2el
10,000,000 10,000
Coldxiel ¥ ARESKE Si(lLXiel 3012 117,600 112,000 5,600
X2 (Abiolzdx))
= 35,280
Al 82,320
307 @120l & 117,600 112,000 5,600
s 35,280
Al 82,320
05 2IR”IRIE = 117,600 112,000 5,600
Oalelsty 2 (el2d]) 117,150
-=201(28) 82,541,000 82,541
= 35,280




FA SIS
M Lol=X =X
el LIS ENd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 47,261
-K==Z(2¥) 15,007,000 16,007
-EIN =Y 2 (2) 8.,217,000% 8,217
-MEIRE R () 11,385,000 11,385
Oately 2H(2HI)
450,000 450
LeI=EXE ANE datdz X3 17,000 0 17,000
Jl 5,100
Al 11,900
307 212+01& 17,000 0 17,000
7l 5,100
Al 11,900
11 AMEISXAEEES 17,000 0 17,000
LoISX2 ADE Lot X (1HA)
17,000,000 17,000
Il 5,100
Al 11,900
CoIRtel SARKE ARIEE MD(=lYXte| 802 15,000 12,600 2,400
SARE MLHA])
< 15,000
301 EtE N = 15,000 12,600 2,400
= 15,000
03 AL 2 & A 263 (X E) 15,000 12,600 2,400
OoledXie] &2 SAHL XM <IH&H]
50,0003 »25H « 128 15,000
= 15,000
ColgRiel a2 & SAL K& 10,000 10,000 0
= 3,000
Al 7,000
307 elztol & 10,000 10,000 0
= 3,000
Al 7,000
11 AMEISXAIEEXS 10,000 10,000 0
olTte| o2 LOFHl X3 (204)
10,000,000 10,000
s 3,000
Al 7,000
LRI0IZAE BML Ex2RY 31,200 26,400 4,800
& 3,120
Al 28,080
301 EtE NS 31,200 26,400 4,800
= 3,120
Al 28,080
03 A2 E A0 Z2 (XL THH) 31,200 26,400 4,800




FA SIS
M Lol=X =X
Rl ==X eI (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLoI=RE SAR S+22+g(182)
31,200,000& 31,200
= 3,120
Al 28,080
LOI0IEAIE(oIdRt2]) BALL S22 3,600 3,600 0
== 360
Al 3,240
301 22N 3,600 3,600 0
< 360
Al 3,240
03 AL 2 & A 263 (XL E) 3,600 3,600 0
OLQI0IBAIE(LQYTIZ) EAX S42
f(29) 3,600,000& 3,600
= 360
Al 3,240
A2 QI EdE X2 48,447 44,776 3,671
s 14,534
Al 33,913
301 22N = 1,800 1,800 0
& 540
Al 1,260
03 AL 2 & A 253 (XL E) 1,800 1,800 0
OLQlMgHH SAL S+222(19)
1,800,000& 1,800
= 540
Al 1,260
307 @120l & 46,647 42,976 3,671
=S 13,994
Al 32,653
10 Al SXAEEE 22X 46,647 42,976 3,671
OLQIASHHIE 12| XISl
45,147,000 45,147
< 13,544
Al 31,603
Ok olagHe =gl Xd
1,500,000& 1,500
= 450
Al 1,050
S0 JtdloldstRA 29 KA 10,000 10,000 0
[ 3,000
Al 7,000
307 lztol & 10,000 10,000 0
= 3,000
Al 7,000




FA SIS
M Lol=X =X
Rl ==X eI (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 10,000 10,000 0
OSHLel JtuloldsteA 29 XA (1)
10,000,000 10,000
= 3,000
Al 7,000
MNAS THOH=Ql AAHHE 445,500 243,000 202,500
== 44,550
Al 400,950
307 212+01& 445,500 243,000 202,500
< 44,550
Al 400,950
11 AMEISXAEEE 445,500 243,000 202,500
OMAS MIt=Cl AAIHE
4,500 #3302 252 * 12 445,500
= 44,550
Al 400,950
FIIE 2t 808 Z2HE 96,000 0 96,000
== 48,000
Al 48,000
301 22N 96,000 0 96,000
[ 48,000
Al 48,000
02 A2 EH LGS (FHAAS, XNSWE) 96,000 0 96,000
Ozt 1,200,000 +80& 96,000
= 48,000
Al 48,000
COIAZQUANESANL Sx225E 65,280 47,040 18,240
= 6,528
Al 58,752
301 Eet2 NS 65,280 47,040 18,240
== 6,528
Al 58,752
02 ARSI 2E AT S(FIAANS, XLETHE) 65,280 0 65,280
LCOIMSAIE BAK S+2R2+2(114)
65,280,000 65,280
= 6,528
Al 58,752
CRIAZRAANLE JzdEsst NZ S 16,810 17,492 1,682
= 1,581
Al 14,229
301 EtE NS 15,810 0 15,810
== 1,581
Al 14,229




FA SIS
M Lol=X =X
Rl ==X eI (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 15,810 0 16,810
OLQIMEBAIL £3X L BAMAYI KA(1
IHA) 15,810,000& 15,810
= 1,581
Al 14,229
OIS ANESH 10,678,322 8,285,140 2,393,182
== 5,339, 161
Al 5,339, 161
307 212+01& 10,678,322 8,285,140 2,393,182
< 5,339, 161
Al 5,339, 161
11 AIBI =AY X 10,678,322 8,285, 140 2,393, 182
OFIIQYL AILS0H(B1)
10,678,322,000& 10,678,322
= 5,339, 161
Al 5,339, 161
LRIEIIRY Mots 5,356,011 5,365,129 N9,118
== 535,601
Al 4,820,410
307 212+01& 5,356,011 5,365,129 29,118
[ 535,601
Al 4,820,410
11 AMEISXAEEES 5,356,011 5,365,129 29,118
OFIILY IS0 (322H)
5,356,011,000& 5,356,011
= 535,601
Al 4,820,410
COEIIQAAS S| HAF X2 2,000 0 2,000
307 @120l & 2,000 2,000
04 QIZIHAIAIH E X 2,000 2,000
OIS stitg2& X X
2,000,000 2,000
COIESSAEIA SAL MR 4,800 4,800 0
= 4,800
301 EetE NS 4,800 4,800 0
== 4,800
03 A2 E A0 Z2 (XL THH) 4,800 4,800 0
OLI¥ESSAHIA SAEL M2I4&8I
50,0008 x8& * 122 4,800
= 4,800
SSUHEAAMHIA SAL MM 1,200 1,200 0
= 1,200
301 2= 1,200 1,200 0
< 1,200




SA: ASI=XID
3 LoI=XSH
Rl ==X eI (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
03 MBI B & A 2=6I2(RILTHE) 1,200 1,200 0
OSSEOIA MUIA BSAIX HRIH&H| K
2 (2H) 1,200,000& 1,200
& 1,200
tist=olsl X2 (AIXE 29) 91,264 81,067 10,197
307 212+01 A 91,264 81,067 10,197
02 QIRHH LA B X 3,000 3,440 A440
OLol 2t AL ZIHKIA
3,000,000& 3,000
03 QIZIHXEHE2IHIEX 88,264 77,627 10,637
Otiet2lsl AlXl2l 29 88,264
—QI24H| 69,494
MNEZE 32,472,000 32,472
- BRRE 37,022,000 37,022
-23H| 18,770,000& 18,770
SHTAAE(S0HE) &5 250,000 250,000
401 A& HIZLS0HY| 250,000 250,000
01 AlEHI 250,000 250,000
OZS4FAAE(S2Y) &=
250,000,000& 250,000
J|=ME g0 ASHEHl S 475,900 475,900 0
& 142,770
Al 333,130
301 LPENZ 475,900 475,900 0
& 142,770
Al 333,130
2 AN BEA>HS(HUYAHS, NYTHA) 475,900 475,900 0
OJ| =g =zgol ESHE|
50,000& *1,450F x5 362,500
= 108,750
Al 253,750
OMAS Lol HLBEZ X2 (900F)
113,400,000& 113,400
& 34,020
Al 79,380
LoEXEE Mas(d2Es) 7,260 7,260 0
& 2,178
Al 5,082
307 QIZ2t01A 7,260 7,260 0
= 2,178
Al 5,082
11 AR SXAMEE R 7,260 7,260 0
LoEXRZ B3
5,500 x 11000 2~ 123 7,260
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FA SIS
M Lol=X =X
Rl ==X eI (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-=20(38) 2,152,700 «3E« 12 77,498
-EIANYZ(3Y) 2,152,700 +3% 6,459
-MNEEERYS(3E)
250,000 «3F 122 9,000
O0l2dl g3 AN SAMHIA 28(23H])
500,000& 122 6,000
F2E XASAMXEE &8sl 65,400 66,000 2600
301 EtE N = 65,400 66,000 A600
14 DBt 2 a=S 65,400 66,000 2600
Od2g NYGSAN = 2SH]
50,0002« 100 122 65,400
d2g g4oh A 74,321 85,800 A11,479
201 et 3| 74,321 85,800 A11,479
01 At22t2l] 74,321 85,800 A11,479
OZ2g et &t & FAE44l
56,8202 x 1099 A+ 12 74,321
SstMeteAHIA 2LIEE X 2,000 2,000 0
= 2,000
307 @I2t01 & 2,000 2,000 0
< 2,000
1 AMEISXAIEEXS 2,000 2,000 0
OSTUFIALIA SUEIY IR (22)
2,000,000 2,000
s 2,000
S ONEE! 1,420,417 1,299,630 120,787
2 143,248
& 131,858
Al 1,145,311
22g 2435 XJ(22H X) 395,760 379,440 16,320
= 23,544
Al 372,216
307 el2tol & 395,760 379,440 16,320
= 23,544
Al 372,216
1 AMISXAIEEXS 395,760 379,440 16,320
OZ=d 24l € =r2adl X3
395,760,000 395,760
< 23,544
Al 372,216
32E 243t X2 (KHA) 39,662 36,621 3,041
307 glztol & 39,662 36,621 3.041
10 Al SXAIEEHE 22X 37,554 34,511 3,043
Oozdzg mzOgae|it X
37,554,000 37,554




FA SIS
M Lol=X =X
=t 22X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 2,108 2,110 A2
oY AXE KA (L)
2,108,000& 2,108
424 R34 401,280 401,280 0
=S 40,128
Al 361,152
307 21201 & 401,280 401,280 0
== 40,128
Al 361,152
11 AMEISXAEEES 401,280 401,280 0
OFzAY 2234
4,000 380 x22L « 12 401,280
= 40,128
Al 361,152
Z2¢ #4435 XY (=203 XIY) 48,100 42,000 6,100
= 1,800
Al 46,300
307 @I2t01 & 48,100 42,000 6,100
== 1,800
Al 46,300
11 AMRISXAEEES 48,100 42,000 6,100
OF2g T2yl XY
48,100,000 48,100
= 1,800
Al 46,300
ZE2AGH AR I24H| (&) 90,240 64,440 25,800
= 9,024
Al 81,216
307 @120l & 90,240 64,440 25,800
== 9,024
Al 81,216
1 ABIS XA EE 90,240 64,440 25,800
OAZAL FAR 21248 (421)
1,880,000& x4E 12 90,240
= 9,024
Al 81,216
Z22g 8435 N (M3 sSAESHl XId) 143,880 98,100 45,780
= 14,388
Al 129,492
307 @20l & 143,880 98,100 45,780
s 14,388
Al 129,492
11 AMRISXAEEES 143,880 98,100 45,780




SA: AR =X

g LoIsXsd

=t 22X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ=2¢g Al2lsSAtgstl X3
143,880,000 143,880
= 14,388
Al 129,492
2 dutgdl & 2=l A2 286,495 262,749 23,746
= 143,248
= 42,974
Al 100,273
307 el2to| & 286,49 262,749 23,746
= 143,248
S 42,974
Al 100,273
11 AMEISXAIEEE 286,495 262,749 23,746
OZ2g dtegdl & 2=l XA (1099H2)
286,495,000 286,495
= 143,248
S 42,974
Al 100,273
22E 20t X 15,000 15,000 0
201 er23| 15,000 15,000
02 S3=gl 15,000 15,000
Odzg 28 it X2
15,000,000 15,000
LeIFXDeEE 160,090 144,600 15,490
FZANE &S 160,090 144,600 15,490
201 2= 8,300 4,600 3,700
2 S52g4l 8,300 4,600 3,700
OZ2g =Al&el 3,000,000 3,000
OZ2¢ I |A=4=(30H)
5,300,000& 5,300
401 AIEHIX R0 127,400 103,000 24,400
01 A28l 127,400 103,000 24,400
O32< SHU=tAre 127,400,000 127,400
405 KHaHE SH] 24,390 37,000 12,610
01 Tt ESF=HI 24,390 37,000 212,610
OZ2g 2NE=28 7Y (328 )
20,390,000 20,390
OZ2¢ oo 2 (20h)
4,000,000& 4,000
Zojel SIS 22,676,261 22,011,049 665,212
= 11,171,962
[ 1,320
= 2,256,133
Al 9,246,846




2A:
X XH -
o e

=aak

Ar2l = X 2t
el sXsd
I =X =20X&

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHeI=XI =10X & 16,367,489 16,352, 161 1,015,328
= 11,171,962
[ 1,320
= 1,024,618
Al 4,169,589
Zoiel H=2 20 X2 3,471,187 3,468,960 2,221
= 2,429,831
= 208,271
Al 833,085
301 EtE N = 3,471,187 3,468,960 2,221
= 2,429,831
< 208,271
Al 833,085
01 AR 2EHSHS(RNEERTHE) 3,471,187 3,468,960 2,221
ool oz S0 XS(%7E)
3,471,187,000& 3,471,187
= 2,429,831
[ 208,271
Al 833,085
FU=00Ix) = 773,682 740,930 32,752
= 541,578
< 162,473
Al 69,631
301 LELE NS 773,682 740,930 32,752
= 541,578
s 162,473
Al 69,631
01 Al 2E AL S(SREXME) 773,682 740,930 32,752
OBOH+LOIZ) XIZ(1,0812)
773,682,000 773,682
= 541,578
=S 162,473
Al 69,631
ZO=E(Xa? 8) Xs 368,404 332,970 35,434
= 257,883
=S 77,365
Al 33,156
301 Eet2 NS 368,404 332,970 35,434
= 257,883
= 77,365
Al 33,156
01 Al EE AT S (2 RDEEMRA) 368,404 332,970 35,434
OZ==E (e S) NS(4188)
368,404,000 368,404




2A:
X XH -
o e

=aak

Ar2l = X 2t
el sXsd
I =X =20X&

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 257,883
=S 77,365
Al 33,156
ol #sSXE=0 X 9,310,602 8,411,596 899,006
= 6,517,422
= 418,977
Al 2,374,203
307 @12t0| & 9,310,602 8,411,5% 899,006
= 6,517,422
= 418,977
Al 2,374,203
11 AMEISXAIEEXS 9,310,602 8,411,5%6 899,006
OToHe! 2SS0 X2 (3B2F)
9,310,602,000& 9,310,602
= 6,517,422
= 418,977
Al 2,374,203
SSTY 2L JHtsN 134,149 122,946 11,203
= 93,904
= 6,037
Al 34,208
307 el2tol & 134,149 122,946 11,203
= 93,904
& 6,037
Al 34,208
11 AMEISXAEEXS 134,149 122,946 11,203
OESEX Jta=0(19%)
134,149,000 134,149
= 93,904
< 6,037
Al 34,208
LETHEAMHIA HIRH K& 250,000 221,190 28,810
= 175,000
< 11,250
Al 63,750
307 elztol & 250,000 221,190 28,810
= 175,000
== 11,250
Al 63,750
11 AMRISXAEEES 250,000 221,190 28,810
OLLTHEMEIA HIRHM XI&(104Y)
250,000,000 250,000
= 175,000
s 11,250




2A:

Ar2l = X 2t

M Zoje SXNSH
Rl ZOoHI=X =10X= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 63,750
22T FHESMHEIA 379,302 341,542 37,760
= 265,511
= 17,069
Al 96,722
307 gl2to| & 379,302 341,542 37,760
= 265,511
= 17,069
Al 96,722
11 AMEISXAIEEES 379,302 341,542 37,760
OSLLHR FAHEAHIA(142)
379,302,000 379,302
= 265,511
= 17,069
Al 96,722
LI BU= SSAHIA 51,258 33,258 18,000
= 35,880
= 2,307
Al 13,071
307 elztol & 51,258 33,258 18,000
= 35,880
< 2,307
Al 13,071
11 ABIS XA EE 51,258 33,258 18,000
OO YUSHSAYIA(62)
51,258,000 51,258
= 35,880
< 2,307
Al 13,071
2SI F2aE N 1,913 3.826 21,913
= 1,339
== 86
Al 488
307 212+01& 1,913 3,826 21,913
= 1,339
=S 86
Al 4838
11 AMISXAIEEX 1,913 3,826 21,913
OLLTOL 224 X2(1Z)
1,913,000& 1,913
= 1,339
S 86
Al 488
ZSE LEZ! =2t 05 1:1 N&E 123,015 0 123,015




2A:

X XH -
o=

Ar2l = X 2t

el sXsd

Rl ZOoHI=X =10X= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 86,110
=S 5,536
Al 31,369
307 @I2to| & 123,015 0 123,015
= 86,110
= 5,536
Al 31,369
02 2B YA HE A 123,015 0 123,015
OzlsE LEHM =2t 05 111 X&
123,015,000& 123,015
= 86,110
= 5,536
Al 31,369
Zolel=Hl K& 48,464 271,863 N223,39
= 38,771
= 6,785
Al 2,908
308 AXIMSOIA 48,464 271,863 N223,399
= 38,771
= 6,785
Al 2,908
18 SIS0t & AAS A 48,464 271,863 N223,399
OFoHeleI=Hl K& (125%)
48,464,000& 48,464
= 38,771
< 6,785
Al 2,908
HOHAEZRI D] KB (LRAY) 5,250 4,823 427
= 4,200
Al 1,050
301 EtE2 NS 5,250 4,823 427
= 4,200
Al 1,050
01 Al EE AL S(FREXMH) 5,250 4,823 427
OZ0iel BA101 X2 (10%)
5,250,000 5,250
= 4,200
Al 1,050
MASHOHR! &EHl & A X 1,800 1,800 0
= 900
== 135
Al 765
301 EtE NS 1,800 1,800 0
= 900




SA: AR =X

= Zoje sXsd

&2l HOHISX =0X&3 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 135
Al 765
01 A2 HSHS(RNEERTH) 1,800 1,800 0
ONASZOHQ! TCEHl 2 ZAHHl X2 (36E)
1,800,000 1,800
= 900
== 135
Al 765
HEZ0HS! SLHISXIA 3,600 3,600 0
= 2,520
[ 162
Al 918
301 LELEN S 3,600 3,600 0
= 2,520
== 162
Al 918
01 Al 2E A S(SRNEXMHE) 3,600 3,600 0
OUEgHel E4HHIEXIA(3)
3,600,000 3,600
= 2,520
s 162
Al 918
ol SSAMLSAHIA 2,640 2,064 576
= 1,320
Al 1,320
307 glztol & 2,640 2,064 576
= 1,320
Al 1,320
11 AMEISXAIEEXS 2,640 2,064 576
OToHe SSHALHAMHIA K& (2F)
2,640,000& 2,640
[ 1,320
Al 1,320
ZoId Rl XI& (SXILX2l) 660,297 621,922 38,375
= 330, 149
=S 49,522
Al 280,626
307 @I2t01 & 660,297 0 660,297
= 330,149
= 49,522
Al 280,626
03 PIHNEE 22X 26,722 0 26,722
OFOHIL el &I 2HY|
26,722,000 26,722




SA SIS
Hm: mojol =2XSA
el ZoHI=EX =0X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 13,362
=S 2,004
Al 11,3%
11 ABI =S XA X 633,575 0 633,575
OBONILTIZIAI (ZXIYRE]) Q12AH] (4L
) 633,575,000 633,575
= 316,787
== 47,518
Al 269,270
ZojId el X& (et tel) 631,555 621,009 10,546
= 315,778
s 47,366
Al 268,411
101 e124d| 572,282 620,510 N\48,228
= 286,142
= 42,921
Al 243,219
04 JIZtN22 XS+ 572,282 620,510 N48,228
ORI YRR/ X (LB U] (212)
572,282,000 572,282
= 286,142
= 42,921
Al 243,219
201 et 3| 59,273 49 58,774
= 29,636
= 4,445
Al 25,192
01 At22t2ltl 59,273 499 58,774
O=2gHtl 59,273,000& 59,273
= 29,636
= 4,445
Al 25,192
oA L X2 X1 (AL Xt2l) 180,371 147,862 2,509
= 75,186
= 1,277
Al 63,908
101 @124H| 136,258 147,362 A11,104
= 68,128
< 10,219
Al 57,911
M JIZtHZ2 S E 136,258 147,362 A11,104
O AL Xt I%(/\I 2RI X2l ) (10€)
136,258,000& 136,258
= 68,128




2A:
X XH -
o e

=aak

Ar2l = X 2t
el sXsd
I =X =20X&

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 10,219
Al 57,911

201 Ler=23 | 14,113 500 13,613
= 7,058
< 1,058
Al 5,997

01 At2t2ltl 14,113 500 13,613
24| 14,113,000& 14,113
= 7,058
== 1,058
Al 5,997

OHeI=R LeHX# 5,521,516 5,908,801 A387,285
= 1,063,607
Al 4,457,909

CHl Zoi=¢ 281,820 299,520 A17,700
= 140,910
Al 140,910

301 EtE2 NS 281,820 299,520 A17,700
=S 140,910
Al 140,910

02 ANRI2HHSFS(HAAS, NLHE) 281,820 299,520 A17,700
O&kH| ZO0H==&(389Y) 281,820,000 281,820
< 140,910
Al 140,910

ol #SXE =0 FIHIE 633,278 926,376 A293,098
= 316,639
Al 316,639

307 el2to| & 633,278 926,376 A293,098
= 316,639
Al 316,639

1 AMEISXAIEEXS 633,278 926,376 293,098

OToHe! 2SS0 FIHAIE (2122)

633,278,000 633,278
== 316,639
Al 316,639

ORI+ | 147,400 140,000 7,400
= 73,700
Al 73,700

301 EtE N = 147,400 140,000 7,400
= 73,700
Al 73,700

02 AR 2HHLFS(HAAS, XNLHE) 147,400 140,000 7,400




SA: AR =X

= Zoje sXsd

Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFOHRIDI7 dichatt] (382
147,400,000 147,400
= 73,700
Al 73,700
NAS Z0He 2|gHl X3 4,500 11,000 26,500
== 2,250
Al 2,250
301 22N 4,500 11,000 26,500
< 2,250
Al 2,250
02 MBI 2EHSFHS(HAANS, XLHE) 4,500 11,000 26,500
ORASHOIQ! 2I2H| X2 (32)
4,500,000& 4,500
= 2,250
Al 2,250
MNASEOR! 227171 X 440 7,200 26,760
s 220
Al 220
301 22N = 440 7,200 26,760
[ 220
Al 220
02 AR 2EH 2GS (HAAS, NWE) 440 7,200 26,760
OMASEOL 2X2I17] X(1H)
440,000 440
= 220
Al 220
ofel=EXaE 258 19,440 16,998 2,442
=S 9,720
Al 9,720
307 21201 & 19,440 16,998 2,442
< 9.720
Al 9,720
11 AMEISXAEEES 19,440 16,998 2,442
OTHA=RAE E225(360E)
19,440,000 19,440
= 9,720
Al 9.720
ClEE HoHe JIMAH K& 2,400 4,200 21,800
=S 720
Al 1,680
301 Eet2 NS 2,400 4,200 1,800
== 720
Al 1,680
02 AR 2EH LGS (FHAAHS, W) 2,400 4,200 21,800




2A:

Ar2l = X 2t

M Zoje SXNSH
Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Okl eI ool D17 K (42)
2,400,000& 2,400
= 720
Al 1,680
| HH =8 SH 52,700 48,760 3,940
== 15,810
Al 36,890
301 22N 52,700 48,760 3,940
[ 16,810
Al 36,890
02 MBI 2EHSFHS(HAANS, XLHE) 52,700 48,760 3,940
OFJIE Hojel =8S&(608)
52,700,000& 52,700
= 15,810
Al 36,890
I LEIHOR EXIT] Ak 61,450 60,254 1,196
s 30,725
Al 30,725
101 e124d| 55,450 58,254 A2,804
& 27,725
Al 27,725
M ORNZZ2NSE S 55,450 58,254 A2,804
OZIE LR EX2I1D] 2elAH(4Y)
55,450,000 55,450
= 27,725
Al 271,725
201 Zet=3h] 6,000 2,000 4,000
=S 3,000
Al 3,000
01 AtR2tc|Hl 6,000 2,000 4,000
o2l 6.,000,000& 6,000
[ 3,000
Al 3,000
ZESS L2 =2F HE 111 X2 73,440 0 73,440
308 XXM SOIA 73,440 73,440
07 AX R FE=S 73,440 73,440
OzES LETMA =2t HHE 1:1X&
73,440,000 73,440
SSTIE 283D 6,100 4,420 1,680
201 fet=3| 3,700 2,500 1,200
03 A= 3,700 2,500 1,200
OSTEMIIE €W 2 (16015 80F)
3,700,000 3,700
301 EtE NS 2,400 1,920 480




2A:

Ar2l = X 2t

M Zoje SXNSH
Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 2,400 1,920 480
OBZ =oIE B2
9,000 *80H *34 2,160
OB HOIJIZ 24l
3,0002+80H 240
o2& ~cldl XA 10,000 10,000
301 22N = 10,000 10,000
2 A S HEAHS(HAAS, L) 0,000 0,000
OFjIEED 22 XA (HSLHO| 22
2 BiE2l wH S)(100%)
10,000,000 10,000
oI SE2H T S| £X 6,000 6,000 0
405 AHatE = 6.000 6,000
01 ML ESFSHI 6,000 6,000
OB HSRHT EFI| &X|
3,000,000 *2CH 6,000
Mg SeES & =] 4,500 5,000 A500
301 EtE NS 4,500 5,000 A500
02 NRI2HHSHS(HAAS, NLHE) 4,500 5,000 2500
OCEEe SMAS & L=HI(4F)
4,500,000 4,500
I SEEXINE L= === X 1,400 2,500 21,100
201 er23| 1,400 2,500 21,100
01 At2teltl 1,400 2,500 1,100
OHMISE=AIIE dEr++8 AT
4,0002 350 1,400
UL =XIE SIIREUS 4,004 5,998 A1,94
201 etz 3| 4,004 5,998 1,894
02 S3=gHl 4,004 5,998 1,994
OFMU=XHE SITILE S
3,820& +1,048H 4,004
A W 0 Q1A O W= 1,100 1,000 100
201 er23| 1,100 1,000 100
01 At2tltl 1,100 1,000 100
OME W Zofel 1Al O WS Al &
S M 1,100,000 1,100
ZOHAEIIAHFAIE 2E 469,213 424,970 44,243
=S 41,972
Al 427,241
307 21201 & 469,213 424,970 44,243
< 41,972
Al 427,241
10 Al2ISTIAIEEE 22X 469,213 424,970 44,243
OZMAEIIHF=AIE 29 469,213




2A:

X XH -
o=

Ar2l = X 2t

el sXsd

Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-0l 21H((8Y) 443,213,000 443,213
= 41,972
Al 401,241
-2l 26,000,000 26,000
ZopeiseeaEts 29 N 92,700 94,700 A2,000
< 18,957
Al 73,743
307 212+01& 92,700 94,700 22,000
S 18,957
Al 73,743
10 Al SXAEEHE 22X 92,700 94,700 /2,000
OHHI3BEE 2E 92,700
-Ql24H((2Y) 85,700,000& 85,700
= 18,957
Al 66,743
-2gH4l 7,000,000& 7,000
ZOHRHFAIE 2 XA (65) 79,876 71,355 8,521
= 7,988
Al 71,888
301 EtE NS 28,200 27,000 1,200
= 2,820
Al 25,380
03 A2 E A0S (XILTHH) 28,200 27,000 1,200
OTOMHLUNFAIE S22+ X (65)(12
) 28,200,000 28,200
s 2,820
Al 25,380
307 lztol & 51,676 44,355 7,321
& 5,168
Al 46,508
10 Al SXAIEEHE 22X 51,676 44,355 7,321
OZOHANFAIL 2SR (65)
51,676,000& 51,676
= 5,168
Al 46,508
ZOHRIHFAIE LA X (48) 4,106 4,105 0
== 1,232
Al 2,873
307 212+01& 4,105 4,105 0
= 1,232
Al 2,873
11 AMEISXAEEES 4,105 4,105 0




SA: ABIZXID
M Zoje SXNSH
Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBMNIHFAIE LAXKIR(4Z)(102)
4,105,000& 4,105
= 1,232
Al 2,873
gojelsxa 249 1,897,375 1,597,375 0
== 70,000
Al 1,527,375
307 212+01& 1,597,375 1,597,375 0
[ 70,000
Al 1,527,375
05 2ItRIE =2 1,897,375 1,597,375 0
Oel=A2 24 1,365,480
-1 21H[(25) 1,155,061,000& 1,155,061
= 70,000
Al 1,085,061
-2g4l 210,419,000 210,419
OZHA=SX2 ALY 2
231,89%,000& 231,8%
FofelsAa & 5= - HIESHH 23K 22,000 22,000
401 AlEHIZ 2018 22,000 22,000
01 Al&H| 22,000 22,000
OHeISE=sA2 & = - EDI2SHH &
NS (AAIEHAH) 22,000,000 22,000
U F2UES AL 2 534,571 508,927 25,644
== 52,517
Al 482,054
307 212+01& 534,571 508,927 25,644
< 52,517
Al 482,054
10 Al SXAEEHE2EHI2x 534,571 508,927 25,644
OZA=2UESAIE 29 534,571
-1 21H((8Y) 487,689,000& 487,689
= 48,769
Al 438,920
-2gHtl 46,882,000& 46,882
< 3,748
Al 43,134
ZOATOI=XIAIE 29 X2 (28) 14,200 14,200 0
= 1,420
Al 12,780
307 el2tol & 14,200 14,200 0
= 1,420
Al 12,780




SA: ABIZXID
A ZoHel SXSE
Rl ZOHRI=X eI (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
10 IS SXAIEHE2ZHIEX 14,200 14,200 0
OZO=X 2, HOHF2ESAIE 2K
225) 14,200,000 14,200
& 1,420
Al 12,780
ZOHCITIOIE XA Y BALL E+22Y 52,200 52,800 AB00
& 5,220
Al 46,980
301 LetEHZ 52,200 52,800 2600
= 5,220
Al 46,980
03 A2 2 & X262 (XY THA) 52,200 52,800 AB00
ZOel=X2, HojeI=2UESAd SAHA
R R EE)
52,200,000 52,200
& 5,220
Al 46,980
METREH 2 ~0SDHH 29 XF 543,620 312,040 231,580
T 54,362
Al 489,258
301 LB F 14,400 0 14,400
= 1,440
Al 12,960
03 A B & A 262(RIZ ) 14,400 0 14,400
OSMI E222E 14,400,000 14,400
& 1,440
Al 12,960
307 212+01™ 529,220 312,040 217,180
& 52,922
Al 476,298
10 Al S XA EEHE2FHIE X 529,220 312,040 217,180
OAIZHONQ S METRHE 2
205,800,000& 205,800
= 20,580
Al 185,220
Ox=EgdH 29 323,420,000& 323,420
& 32,342
Al 291,078
ZOHQISXIAIE SA HRIH&HI 36,000 36,000 0
T 36,000
301 LPENZ 36,000 36,000 0
& 36,000
03 A B &E 262 (RIY M) 36,000 36,000 0




2A:

E M

X=]

Ar2l = X 2t

Dol ZXSX

D HOHQI=A LEHX A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZOANFAIE, HOHAXIS AR THEAIE
SA MLIHAHI(60)
36,000,000& 36,000
= 36,000
ZOHIXATHEAIE 28 XJA(78) 67,093 57,116 9,977
S 6,709
Al 60,384
301 LEtE NS 13,850 12,800 1,050
= 1,385
Al 12,465
03 A2 E A0S (XILTHH) 13,850 12,800 1,050
HOIHHALBAR SS2LLLNRA(7S
)(10&) 13,850,000 13,850
s 1,385
Al 12,465
307 212+01& 53,243 44,316 8,927
S 5,324
Al 47,919
10 Al SXAEEHE2EHI2x 53,243 44,316 8,927
OBMWUELTNEAL 22 A(7E)
53,243,000& 53,243
= 5,324
Al 47,919
AR ATHEAIL LAT XIS (45) 7,2% 7,29 0
== 2,189
Al 5,107
307 212+01& 7,2%6 7,296 0
< 2,189
Al 5,107
11 AMEISXAEEE 7,2% 7,2% 0
OBONRIRATHRAIL AT X2 (45)(2L)
7,296,000& 7,296
= 2,189
Al 5,107
ZOHAXSIHEAIE SAHL M 2ME8I 6,000 5,400 600
== 6,000
301 EtE N = 6.000 5,400 600
= 6,000
03 A 2E A= S (XL THH) 6,000 5,400 600
OHAXNLTHEAIZ SALA XIHAY] X
2(99) 6,000,000 6,000
= 6,000
ZOHAISTAIE Wz X 7,980 11,840 A3,860
< 2,3%




2A:

E M

X=]

Ar2l = X 2t

Dol ZXSX

D HOHQI=A LEHX A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 5,586
307 gl2tol & 7,980 11,840 /3,860
=S 2,3%
Al 5,586
11 ARRIS XA E X 7,980 11,840 A3,860
OHOAU=SKAIE HEZ2 02 XIJ (20HA)
7,980,000 7,980
< 2,3%
Al 5,586
A2 ZOHIESIAIL DI=XI2dEH 2 90,640 83,000 2,640
= 27,192
Al 63,448
307 @20l & 90,640 88,000 2,640
=S 27,192
Al 63,448
10 MEISXAEHE2EHIEX 90,640 88,000 2,640
OFOAEAAIE JN=XRHE 2 (1HA)
90,640,000 90,640
< 27,192
Al 63,448
el HOAAL HEXZARA =29 30,539 29,713 826
= 9,161
Al 21,378
307 el2to| & 30,539 29,713 826
= 9,161
Al 21,378
10 AlRISXAZEHE 22X 30,539 29,713 826
OFOHQ HoJAIE BEEAMRY 28018, 1
) 30,539,000 30,539
[ 9,161
Al 21,378
SSTHA NS HEHEH X2 210,000 210,000 0
= 105,000
Al 105,000
307 elzto| & 210,000 210,000 0
= 105,000
Al 105,000
03 PIZAHHNEE 22X 210,000 210,000 0
OZOHI Xt M HIES X2 (1HA)
210,000,000 210,000
< 105,000
Al 105,000
SSYUANSHSHE SAHA XAl K& 2,400 2,400 0
= 2,400




SA: ABIZXID
M Zoje SXNSH
Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 2,400 2,400 0
= 2,400
03 A 2H A =TS (XILTHH) 2,400 2,400 0
OZ NI NI MEHE SAHR MIHAHI(4
g) 2,400,000 2,400
< 2,400
oA =g 29,000 28,500 500
401 AIEHIZ SR OHYI 29,000 28,500 500
01 Al&HI 29,000 28,500 500
OHMHUSH S MRA & HE RAES
20,000,000 20,000
ON3Z A&S oEz 89
9,000,000& 9,000
ZOHRIF=I SR EE WEHE 2AcIANAY 2 4,440 4,320 120
201 Zet=3h] 4,440 4,320 120
01 AtR2te|HI 4,440 4,320 120
OAAE RX 2= 370,000+ 122 4,440
o =XEE =& 23,356 21,296 2,060
201 2= 22,356 20,696 1,660
01 AtR2t2lt] 20,256 19,056 1,200
OIS =2 NHHMRe S &
Had 100,000 x7 &= 122] 8,400
OHUMA=SXFZE 3l A4
100,000& * 11 1,100
OFOMQILTIZIAY S BHEH 2
2,000,000& 2,000
OZoHe! Xsxt EX 1, 1122 «5000H 556
OIS AN =992 3
ESESESIS 100,000 6 *123] 7,200
OHMeI=NEY 82 S 29|
1,000,000& 1,000
02 35244l 2,100 1,640 460
OS2 T SEETI| FA2e
1,500,000 1,500
OHMRIFA7S QAHR SEE SR=
50,0002 x1& 122 600
202 04| 1,000 600 400
01 2L AL 1,000 600 400
OFMUPR =X(7H) 1,000,000& 1,000
ZoHRlel & A 13,000 13,000
307 212+01& 13,000 13,000
11 AMEISXAEEES 13,000 13,000
oFojelel & At 13,000,000& 13,000
ORI SHgel dst X 27,562 30,119 N2,557
307 elztol & 27,562 27,139 423




2A:

Ar2l = X 2t

M Zoje SXNSH
Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2N EHE2SHIEX 25,962 25,539 423
OHMHAHMEASS dat N2
2,903,000& 2,903
OFHRIHHEAES AR XY, 1
HE) 23,059,000& 23,059
11 AMRISXAEEES 1,600 1,600 0
OFHLIEH 23tE 1,600,000& 1,600
AH & SSZHOHS! HEAL 67,216 64,808 2,408
307 glztol & 67,216 64,808 2,408
03 2N EE2SHIEX 61,148 58,718 2,430
OFOHQI0ISTI Y SHA 2 (XIHZ0h2!
OlsEx & THEAY ) 38,089
el 27,253,000 27,253
-2l 10,836,000& 10,836
OXIMEOHIES AFRIE XI&(1E, 1K)
23,059,000 23,089
11 AMEISXAIEEXS 6,068 6,090 N2
OZBJI= =Hetg, NAHHAM U
a4 XA 6,068,000& 6,068
WSHOHS WHEALSE 12,05 9,870 2,186
307 @I2t01 & 12,05 9,870 2,186
03 LAHHNEHE2SHIEX 4,626 4,870 avez7
OLSHMH HEAE 28 S
4,626,000 4,626
11 AMEISXAEEES 7,430 5,000 2,430
OUSZ0 WSHHO AL, 2HHE S
7,430,000& 7,430
AZEOHS! AL 43,855 42,125 1,730
307 @120l & 43,855 42,125 1,730
03 PIAHHEYE 22X 32,985 31,665 1,320
OAlZEIEs Wsd 2 2R0ls Xt
=24 32,985
-l 2| 27,253,000 27,253
-2&H| 5,732,000& 5,732
1 AMEISXAIEEXS 10,870 10,460 410
OAIZEe! BXtu =, 23ME S
10,870,000& 10,870
2 A0 THEALY 10,000 9,000 1,000
307 212+01& 10,000 9,000 1,000
11 AMEISXAEEES 10,000 9,000 1,000
OF2 - HAHEONL! ARSI NS, =0 wal
soteloZEsH 34 X3 S
10,000,000 10,000
O =XISl THEALS 9,117 4,640 4,477
307 elztol & 9,117 4,640 4,477




2A: A

2| = X

A ZoHel SXSE
&Pl HOHQISK BRI (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
03 QIZIEHXHE2GHIEX 2,727 2,840 A113
O =XIE HEAE 2Z
2,727,000& 2,727
11 Al =SXAMEES 6,390 1,800 4,590
ORI =X AlMESHE WS
1,890,000& 1,890
OjI=NIs BHE 2
4,500,000 4,500
ORI 2 A 43 XA 11,412 11,412
307 212+01 A 11,412 11,412
03 QI HE2GHIEX 11,412 11,412
OHOUARIAN THEAY 2F S
11,412,000 11,412
ZONKHE Mews 2 ME 11,222 6,802 4,420
307 gI2tol 11,222 6,802 4,420
03 QX HE2GHIE X 4,420 0 4,420
OFLIREZ AIRA 29
4,420,000 4,420
11 AR SXAMEEER 6,802 6,802 0
OZHIRIH EQEZIOY, JI=EAE =
6,802,000& 6,802
oozl 0= K& 74,000 74,000 0
T 22,200
Al 51,800
307 gI2tol 74,000 74,000 0
T 22,200
Al 51,800
11 Al SXAMEE X 74,000 74,000 0
OFH =4l &ot= XA
74,000,000& 74,000
& 22,200
Al 51,800
HSEXRID] B8 Ot & K& 7,500 7,100 400
201 Ler2 | 7,500 7,100 400
02 SE=29| 7,500 7,100 400
OZOHe! MSEXIJ| B8 IOt XI&(211CH)
7,500,000 7,500
ZOHQI A A ME T 787,256 750,087 37,169
= 167,908
Al 619,348
ORI M A THEAN L2 Y 543,180 488,431 54,749
& 54,318
Al 488,862
307 212+01™ 543,180 488,431 54,749




2A:

X XH -
o=

Ar2l = X 2t

el sXsd

(= S Rel s PSS N E (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 54,318
Al 488,862
10 Al2IS XA EEE 22X 543,180 488,431 54,749
O MHAXATHEAILE 2 543,180
-QIAH|(7Y) 490,501,000& 490,501
= 49,050
Al 441,451
-2gHtl 52,679,000 52,679
< 5,268
Al 47,411
JOHU XD HEAIL 2SO IS 42,240 38,400 3,840
= 12,672
Al 29,568
307 el2tol & 42,240 38,400 3,840
= 12,672
Al 29,568
1 AMEISXAIEEXS 42,240 38,400 3,840
OHMNAXATHEAIE ERFO0HR! J13==EH(
22%) 42,240,000 42,240
== 12,672
Al 29,568
Zojel stsd=0l 249 201,836 223,256 N21,420
= 100,918
Al 100,918
307 elztol & 201,836 223,256 N21,420
= 100,918
Al 100,918
1 AMISXAIEEXS 201,836 223,256 A21,420
OFe! AFHCR0| 23 (4Y)
201,836,000 201,836
== 100,918
Al 100,918
Ors=Xsd 3,828,182 3,194,731 633,451
[ 1,152,330
== 1,063,177
Al 1,612,675
OtS=A =0X& 2,987,381 2,600,286 387,09
= 1,152,330
[ 703,476
Al 1,131,575
FHAHE OlSSEAHIA XIS 207,473 178,930 28,543
s 141,960
s 10,647




SA: ABI=XID
2 ols=Xsd
[ O == N = NN (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 54,866
201 er23y| 52,095 31,776 20,319
[ 39,676
= 2,976
Al 9,443
01 At2teltl 27,700 22,200 5,500
OdlEe=g Jl1=dbl 10,000,000 10,000
= 8,000
S 600
Al 1,400
O8E=8 ¥ 12,000,000 12,000
= 9,600
< 720
Al 1,680
OOtSSeAtdIZCIAb WFH|
500,000 42| 2,000
[ 1,600
== 120
Al 280
O#IEIF o SOIX &aiay
150,000 43 600
[ 480
= 36
Al 84
Oul=HI(Bme! =7 60,0002 *10H 600
[ 480
= 36
Al 84
Ox28 7Y (823 8)
2,500,000 2,500
02 S3=2g4l 22,365 7,576 14,789
OAE8Z IS X 8,073,000& 8,073
= 6,458
= 485
Al 1,130
OFAEY 3,500,000& 3,500
= 2,800
= 210
Al 490
O332= & HAl 6,000,000& 6,000
[ 4,800
= 360
Al 840
Os8ig RANE=+ 4,000,000 4,000




SA: ABI=XID
R =te NS,
[ O == N = NN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,200
=S 240
Al 560
OgRE sEs5UE Suldl
33,0002 <2CH+ 123 792
s 634
s 48
Al 110
03 A2 I 2,030 2,000 30
OZ208 LA (7N Z2I3)
2,030,000& 2,030
= 1,624
== 121
Al 285
202 04l 2,000 1,000 1,000
= 1,600
== 120
Al 280
01 =LHOLI 2,000 1,000 1,000
OFOHE OISESAHIA X[ (22X)
2,000,000& 2,000
s 1,600
== 120
Al 280
301 LELEN S 125,855 146,154 N20,299
s 100,684
s 7,551
Al 17,620
01 Al 2E AL S(FREXME) 117,855 140,440 N22,585
OCEHARE &8 T2 3 (2004)
117,855,000 117,855
= 94,284
=S 7,07
Al 16,500
11 dALEEIXIE S 8,000 5,714 2,286
OSEAHE M 2 WS Z2(180H)
8,000,000& 8,000
= 6,400
== 480
Al 1,120
401 Al HIZL 201 12,398 12,398
01 Al&H| 12,398 12,398
Oclz2gd SAt 8,603,000 8,603
Otk XI(Uel=) 3,795,000& 3,795




2A:

X XH -
o=

[ O == N = NN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 156,125 156,125
01 It =S F = 15,125 16,125
OZZIA JIR(+E0IZ, 2K
5,213,000& 5,213
OAIRA Dt (2, M8, 2R
1,282,002 1,282
Oargal JIR(EI0IZ, oIXt, M&, AT}
6.,730,000& 6,730
OdETNS(d&ED, 437 S 68)(H+=2S
xel) 1,900,000 1,900
Ols= XA X2 119,008 93,438 25,660
[ 59,046
= 29,524
Al 30,528
101 @124H| 119,098 93,438 25,660
= 59,046
S 29,524
Al 30,528
M ORIMZZ2NSE S 119,098 93,438 25,660
OO0t =X W AHSE 119,098
-J123(5A124/59)
1,325,250 x5 H «8& 53,010
[ 26,505
= 13,252
Al 13,253
-AX=ERIt =€
50,1502 x5 x4 1,003
-JIE2gHl S 65,085,000 65,085
= 32,541
= 16,272
Al 16,272
XotsdlEe 224 X&(2S) 236,640 236,640 0
[ 118,320
= 59,160
Al 59,160
307 @I2t01 & 236,640 236,640 0
[ 118,320
= 59,160
Al 59,160
10 Al SXAAEEHE 22X 236,640 236,640 0
OXSotsHE 222l X
234,240,000 234,240
[ 117,120
= 58,560
Al 58,560




SA: ABI=XID
R =te NS,
[ O == N = NN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXleiots e o128 X2 (CHAE, 14
&) 2,400,000& 2,400
= 1,200
< 600
Al 600
XotsHE et XA (2S/XE) 1,414,728 1,289,800 124,928
= 707,364
[ 363,682
Al 363,682
307 glztol & 1,414,728 1,289,800 124,928
s 707,364
s 363,682
Al 363,682
10 Al2ISTIAEEE2HIEX 1,414,728 1,289,800 124,928
OXISotsHE bl XN (ZE/XE)
1,414,728,000& 1,414,728
= 707,364
=S 363,682
Al 363,682
NS0tsHlE! ldd] =0 X1 (AAI/ X&) 578,362 426,311 152,051
< 136,703
Al 441,659
307 glztol & 578,362 426,311 152,051
= 136,703
Al 441,659
10 Al SXAEEHE2EHI2x 578,362 426,311 152,051
OXIotsHIE IAHl F=IORAI (RHAI/XIJ)
578,362,000 578,362
=S 136,703
Al 441,659
SdE XH0tsdH FIHE 16,800 36,000 219,200
= 8,400
= 4,200
Al 4,200
307 @120l & 16,800 36,000 219,200
[ 8,400
= 4,200
Al 4,200
10 AlISXAZEHE 22X 16,800 36,000 19,200
Sd2 Ngotsdy = X3
16,800,000& 16,800
[ 8,400
= 4,200
Al 4,200




SA: ABI=XID

R =te NS,

[ O == N = NN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CletNssSdH 21218 X 186,312 109,470 76,842

= 93,156
== 46,578
Al 46,578
307 212+01& 186,312 109,470 76,842
= 93,1%6
=S 46,578
Al 46,578
05 git?(& = 186,312 109,470 76,842
OUEtHsSSHH 14l X1 (20HA)
186,312,000& 186,312
= 93,1%6
= 46,578
Al 46,578
CIetHESS4HIE l2idl It XIA(Z/Al) 130,000 43,857 86,143
[ 39,000
Al 91,000
307 glztol & 130,000 43,857 86,143
= 39,000
Al 91,000
05 212t =S 130,000 43,857 86,143
OUsMSsSHIE I4Hl =3t XA (3HA)
130,000,000 130,000
= 39,000
Al 91,000
CHiNEsdE 23] X 48,000 16,000 32,000
[ 12,000
= 6,000
Al 30,000
307 @20l & 48,000 16,000 32,000
[ 12,000
= 6,000
Al 30,000
05 2I2tRIE =S 48,000 16,000 32,000
OUeNssHE 2! X2 (3HA)
48,000,000 48,000
[ 12,000
= 6,000
Al 30,000
CHEIHMSSHE 2SA2F JEAY 28] X (Z2S) 18,072 17,640 432
[ 9,036
= 4,518
Al 4,518
307 elztol & 18,072 17,640 432
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2A:

X XH -
o=

N=I=PNI

ors=EXsd

1

J

c?l: OlS=A e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 481,100
NS OISHE SS WA X2 247,872 309,120 N\61,248
=S 123,936
Al 123,936
307 21201 & 247,872 309,120 N\61,248
< 123,936
Al 123,936
11 ABI=S XA 2 E 247,872 309,120 £61,248
OXIHOISHE SZRAF XA (142)
247,872,000& 247,872
= 123,936
Al 123,936
NEotsSHE SIIAY wsTA K& 67,200 67,200 0
=S 33,600
Al 33,600
307 @I2to| & 67,200 67,200 0
== 33,600
Al 33,600
11 AMRISXAEEES 67,200 67,200 0
OXSotsHH SIIAHE WIZA X2 (144
2) 67,200,000 67,200
= 33,600
Al 33,600
NEotsHE Se22+g Ad 67,800 63,900 3,900
= 33,900
Al 33,900
301 EetE NS 67,800 63,900 3,900
== 33,900
Al 33,900
03 A 2E A4S (XL THH) 67,800 63,900 3,900
OXISOtSHIE SAN S22
67,800,000 67,800
= 33,900
Al 33,900
OtS=XIWAL XIS (XHAI) 2,400 2,400
201 fer23y| 2,400 2,400
01 AtR2t2|HI 2,400 2,400
OOts=A WAL HE HERAR A =&
200,000 x4 H =33 2,400
oS NFotsdE XA 80,376 39,600 40,776
< 24,113
Al 56,263
307 elztol & 80,376 39,600 40,776
= 24,113




SA: ABI=XID
g OlIs=Asd
c?l: OlS=A e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 56,263
10 Al SXAZEE 22X 80,376 39,600 40,776
OHMSE XFotsSHE (19HA)
80,376,000 80,376
== 24,113
Al 56,263
KNS otsdEHgel de2ss XY 4,000 4,000 0
307 lztol & 4,000 4,000
11 AMEISXAEEES 4,000 4,000
OXSotsHH 283 NE(13l)
4,000,000& 4,000
AS0tSHE HE&sH| 18,800 18,000 800
=S 5,640
Al 13,160
307 @120l & 18,800 18,000 800
< 5,640
Al 13,160
11 AMEISXAEEES 18,800 18,000 800
OXlZotsHIE! MEgsHl X
50,0002 *376E *13] 18,800
= 5,640
Al 13,160
NSotsSHE 22E MblA 5,680 5,205 475
=S 1,704
Al 3,976
201 fer=3| 5,680 5,205 475
== 1,704
Al 3,976
2 S22l 5,680 5,205 475
OXIS0otsHlE XI&(15002)
5,680,000& 5,680
= 1,704
Al 3,976
NSOISHE SAELG M2I4E8I 23,400 23,100 300
S 23,400
301 EtE NS 23,400 23,100 300
= 23,400
03 A 2H A4S (XL THH) 23,400 23,100 300
OXIE0lSHE SAHAL MLl K=
23,400,000 23,400
[ 23,400
AS0ISHE XSGSH 2208 24 27,600 27,600 0
307 @I2t01 & 27,600 27,600
10 Al SXAEEE 22X 27,600 27,600




2A:

X XH -
o=

N=I=PNI

ors=EXsd

1

J

c?l: OlS=A e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONSOISMEl T2 Cj2sl g
27,600,000& 27,600
OtS=S8 SMAHIA Xd(0tsEss Z28) 7,200 4,800 2,400
S 2,160
Al 5,040
307 @12t0| & 7,200 4,800 2,400
== 2,160
Al 5,040
05 2ItRIE= 7,200 4,800 2,400
OOISEE SMAMHIA T202 K (3HA)
200,000 34 A+ 128 7,200
= 2,160
Al 5,040
OtSE= SMAHIA XA (CHENSSHE S50213) 56,733 17,640 39,093
= 17,020
Al 39,713
307 @I2to| & 56,733 17,640 39,093
== 17,020
Al 39,713
05 2IR”tRIE = 56,733 17,640 39,093
OOISSE SMAEIA S22 XIR(3H4)
56,733,000 56,733
= 17,020
Al 39,713
CEii=ssSdH das sy AR 31,050 11,880 19,170
= 9,315
Al 21,736
307 @20l & 31,050 11,880 19,170
s 9,315
Al 21,735
05 2IR”IRIE = 31,050 11,880 19,170
OUigNssdH gt d=sgd N
4,5003 x115F ~60! 31,050
& 9,315
Al 21,735
HE otsSsdH 2K 77,160 0 77,160
= 23,148
Al 54,012
307 gl2to| & 77,160 0 77,160
=S 23,148
Al 54,012
05 git?(& = 77,160 0 77,160
ONE otsssSHE 2F(1HA)
77,160,000 77,160




2A:

N=I=PNI

1

J

M OIS=HASE
&2l Ots=Al LeHX# (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 23,148
Al 54,012
ANE" 2lg=ss 28X 60,960 0 60,960
= 30,480
Al 30,480
307 gl2to| & 60,960 0 60,960
=S 30,480
Al 30,480
05 git?(& = 60,960 0 60,960
OAlEE 2IeE8 KA (1)
60,960,000 60,960
== 30,480
Al 30,480
EESE A2 62,570 0 62,570
= 31,285
Al 31,285
301 eEtE N = 62,570 0 62,570
= 31,285
Al 31,285
02 ANRI2HHSFS(HAAS, XNLHE) 62,570 0 62,570
OoJrsss=¢ A& 62,570,000 62,570
== 31,285
Al 31,285
3|YUAE Ots=K AE 10,144,945 10,283,957 139,012
= 3,553,814
s 8,000
Il 55,386
= 1,775,522
Al 4,752,223
Ots=XDIE &5 53,400 52,590 810
OrS=SAEs =M 7,400 8,350 2950
201 er2 3| 6,800 7,750 A950
01 AtR2t2|HI 6,800 7,750 A950
O0ts=X8Y g2= MA
650,000& 650
O0ts=X 42 A &=
100,000& *x11E*12] 1,100
Olts24?de BH+d
100,000 8 »23] 1,600
OXGss8EAM &g
100,000 12 23] 2,400
O-EHAEE SSAtd2CIAL TS B84
200,000 x4 800
O=E0e0I=0l6H ZINEBA =5
250,0003 *10H A 250




FA SIS
mu: 5|IQl OlS =K AH
s OlsS=ADIE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 600 600
01 2LHoIH 600 600
OOISAEE ¥ Ol 28 92 53
600,000& 600
01glol =01 Ald =X 2% 6,000 6,240 A240
201 ger=3| 2,000 3,240 1,240
02 S3=2gl 2,000 3,240 A1,240
O=E0el0l=0Ie 22 2,000
~SRIORI0ISO0IE A5 2 SRR
2,000,000& 2,000
401 Al HIZ 2018 4,000 3,000 1,000
01 Al&HI 4,000 3,000 1,000
OSE0I2I0I=0IE HE==(1HA)
4,000,000 4,000
0120l &AL 40,000 38,000 2,000
307 @12t01 & 40,000 38,000 2,000
11 ARRIS XA E X 40,000 38,000 2,000
O0glole A 40,000,000& 40,000
Ots2l Ad=H 3,729,738 4,322,019 A592,281
= 2,829,065
s 397,888
Al 502,785
MAZ 0 (OLSEXAIE) 250,000 250,000 0
= 225,000
= 17,500
Al 7,500
307 @120l & 250,000 250,000 0
= 225,000
= 17,500
Al 7,500
11 AMEISXAIEEXS 250,000 250,000 0
OMASH(OtSL=FAIE 2HA)
250,000,000 250,000
= 225,000
= 17,500
Al 7,500
ots=g A& 3,100,108 3,693,975 A\584,867
= 2,487,286
= 279,819
Al 342,003
301 EtE N = 3,109,108 3,693,975 584,867
= 2,487,286
[ 279,819




FA SIS
mH: 5|IQls OlE =K AH
s Olse HE=sH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 342,003
01 Al EE A S (2 RDEEMA) 3,109,108 3,693,975 A\5B4,867
OOl 4g X7 (2,601)
3,109, 108,000& 3,109,108
= 2,487,286
= 279,819
Al 342,003
QES0ts NHEAH(IAEX SIS HEXE) 7,000 7,000 0
= 4,900
= 315
Al 1,785
307 el2to| & 7,000 7,000 0
= 4,900
= 315
Al 1,785
1 AMEISXAEEXS 7,000 7,000 0
OZAHHEXS0tS AR (4Y)
7,000,000 7,000
= 4,900
S 315
Al 1,785
deHaors 258 Nd A 12,000 12,000 0
= 8,400
S 540
Al 3,060
301 EtE NS 12,000 12,000 0
= 8,400
S 540
Al 3,060
01 AR 2EHSHS(RNEXRTH) 12,000 12,000 0
OLLUOts LAASESHI
1,000,000& x1E 12 12,000
= 8,400
== 540
Al 3,060
StiHulciotsd s XIS 258,700 247,84 10,806
= 103,479
== 77,610
Al 77,611
307 212+01& 258,700 247,84 10,806
= 103,479
= 77,610
Al 77,611
10 AlRISXAZEE 22X 258,700 247,84 10,806




SA: AR =X

M s|Qls OlE=X A
&t ot=e A= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OstiiuloiotsaH 29 X
258,700,000 258,700
= 103,479
[ 77,610
Al 77,611
SH{TIoHOls & E 22| FIt X (=H]) 27,040 27,040 0
= 8,112
Al 18,928
307 el2to| & 27,040 27,040 0
= 8,112
Al 18,928
11 AMISXAIEEX 27,040 27,040 0
Ostiulshots&Ed 281 =t XI&(10HA)
27,040,000 27,040
< 8,112
Al 18,928
SHHTIGHOts & 148l It X (=Hl) 49,690 66,110 216,420
= 4,092
Al 45,598
307 elzto| & 49,690 66,110 16,420
= 4,092
Al 45,598
10 AlRISXAZEE 22X 49,690 66,110 16,420
Ostiiulshots&EH lddl =0t XI&(10HA)
49,690,000 49,690
< 4,092
Al 45,598
SIHUICHOtSEE SALAH MW &H| 3,600 3,600 0
= 3,600
301 LEtE NS 3,600 3,600 0
< 3,600
03 A2 E A0S (XILTHH) 3,600 3,600 0
OSIHIIoHOtSEE SALA MRIHAHI(62)
3,600,000 3,600
=S 3,600
SIHIIGHOtSEE SAL S=22+E 12,600 14,400 A1,800
= 6,300
Al 6,300
301 EtE2 NS 12,600 14,400 21,800
=S 6,300
Al 6,300
03 A2 E A =TS (XL THH) 12,600 14,400 21,800
S IISHOlSEE BMA S=22+E(6
= 12,600,000 12,600




2A:
KEH
ool

Ar2l = X 2t
A= Ots=X A
OlEQ HASH

FQJ

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 6,300
Al 6,300
JIE Ots=A 5,013,391 4,972,569 40,822
= 58,171
< 1,295,584
Al 3,659,636
ZAIOLS S AIXI (KHHI/ KI) 1,457,110 1,501,650 N44,540
= 437,133
Al 1,018,977
301 LENZ 615,790 612,450 3,340
= 184,737
Al 431,053
02 AR 2HHSFS(HAAS, XNLHE) 615,790 612,450 3,340
OZAOISZAXIR (S IIHE) (632)
615,790,000 615,790
== 184,737
Al 431,053
307 212t01™ 841,320 889,200 N47,880
= 252,39%6
Al 588,924
11 AR S XA 2 X 841,320 889,200 N47,880
OZAOISSAIXIA (XIH0otSHEH 140H)
9,500 *3602 x246 841,320
S 252,3%
Al 588,924
ZA0tSEA A 121,125 229,500 108,375
[ 121,125
301 LeEN= 121,125 229,500 /108,375
= 121,125
02 MBI 2HHSFHS(HAANS, KLHE) 121,125 229,500 108,375
OZAOISS AR (LSHISESIAHELZ)(
300&) 9,500 x1502 85 121,125
= 121,125
OlSSXAE2E 2,644,806 2,599,607 45,19
S 396,720
Al 2,248,086
307 212to1d 2,644,806 2,599,607 45,199
= 396,720
Al 2,248,086
10 Al SXAAEEHE 22X 2,644,806 2,599,607 45,199
O0ts2Z=AlIE 23| X (2H4A)
2,644,806,000& 2,644,806
s 396,720
Al 2,248,086




FA SIS
mu: 5|oQls Ols =K AH
celr 201E Ots=A EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OlS=XIAIE Ot 2stsisgs XE 370,202 319,320 50,882
= 185,100
Al 185,102
307 el2to| & 370,202 319,320 50,882
= 185,100
Al 185,102
1 AMISXAIEEXS 370,202 319,320 50,882
OOtSEXMEAL SIEESXIA (4H2)
370,202,000 370,202
== 185,100
Al 185,102
Ol EXIAEEMIES2R22E 104,400 108,600 24,200
= 52,200
Al 52,200
301 EtE N = 104,400 108,600 24,200
= 52,200
Al 52,200
03 A2 E A0S (XILTHH) 104,400 108,600 A4,200
OOlS=XANL(OISSLFAIE, O8E) A
X S22 (3HA)
104,400,000 104,400
s 52,200
Al 52,200
ANEES0ts Ot8dd &5 X 58,200 0 58,200
S 17,460
Al 40,740
307 elztol & 58,200 0 58,200
= 17,460
Al 40,740
11 AMEISXAIEEXS 58,200 0 58,200
OANEES0IS DISHY SSAI(2H2)
58,200,000 58,200
=S 17,460
Al 40,740
ES0ts 1858 24 145,428 139,944 5,484
= 58,171
=S 43,628
Al 43,629
307 21201 & 145,428 139,944 5,484
= 58,171
= 43,628
Al 43,629
10 Al SXAAEEHE 22X 145,428 139,944 5,484
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Ar2l = X 2t

mu: 5|oQls Ols =K AH
celr 201E Ots=A EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2sMEIIE(1EER) 220 A
145,428,000 145,428
= 58,171
[ 43,628
Al 43,629
QES0ts 88 Al FIt X (Z/Al) 36,960 37,900 A940
= 11,090
Al 25,870
307 el2to| & 36,960 37,900 A940
= 11,090
Al 25,870
10 AlRISXAZEE 22X 36,960 37,900 A940
SSdEIHE(O8s) 2248 It X2 (1
HA, 49) 36,960,000& 36,960
< 11,090
Al 25,870
OLSSXIAIESAHAM 2 & 29,400 30,000 2600
= 29,400
301 22N = 29,400 30,000 A600
[ 29,400
03 A2 E A0S (XILTHH) 29,400 30,000 A600
OOISSXAL(OISLFAIL, IES) SA
INIPSE S Fall L ES
50,0002 x40 12& 29,400
=S 29,400
OlSsAXE 2HS tHEdl X 5,760 6,048 1288
= 1,728
Al 4,032
308 AXIHSOIA 5,760 6,048 1288
=S 1,728
Al 4,032
18 SIS B ASAI I 5,760 6,048 1288
OOtss4 A S el X2
3,000 +408 =483 5,760
< 1,728
Al 4,032
S5 OtsSsdH =Xl2 40,000 40,000
201 er=23| 20,000 20,000
2 s5=34l 20,000 20,000
ou - 2= 4S9 14,000,000& 14,000
Odatx & =83 & 2
2,000,000& 2,000
OdePD] dEa & HIIAZ2E 2l
4,000,000 4,000




2A:

Ar2l = X 2t

3 5= Ots=A &
celr 201E Ots=A EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 20,000 20,000
01 Al&H| 20,000 20,000
OAE FXEx(U - 22 =2l S 242 2|
2) 10,000,000 10,000
OAlE =gl 10,000,000 10,000
OlsE2s eI 24,500 30,700 26,200
OlsEsE M= 24,500 30,700 26,200
201 2= 18,300 15,400 2,900
01 AFR 22| 15,300 12,400 2,900
OMZIZIARS Fa4g
100,000 x6& *122] 7,200
OLUNYIH 59 Fu4g
50,0002 x3& *123] 1,800
O0tssituYE: dHe 2248 =5 &
cl2H 7 6,300,000& 6,300
2 352484l 3,000 3,000 0
Ootssttadts el
3,000,000& 3,000
202 04l 3,000 2,500 500
01 =LHNHI 3,000 2,500 500
OOtsEsE 0] 500,000 x5 2,500
Ootsstth dgs2E HldUsSHl
25,0002 28 x102] 500
301 LELE NS 200 200
14 JIEt2d= 200 200
OLE30ls AHd|
20,0002 10 200
307 el2to| & 3,000 12,600 /9,600
1 AMEISXAEEXS 3,000 12,600 29,600
OAIZ0ts 020l &AL It X1
20,0003 +75% 1,500
OAI&0IS MRSl &0t X2
20,0002 *75& 1,500
otselddetd & 1,275,557 847,883 427,674
= 666,578
[ 8,000
Jl 55,386
< 82,080
Al 463,543
OrsEE X2 AH %t 874,254 492,473 381,781
= 611,978
== 39,341
Al 222,935
301 22N 874,254 492,473 381,781
= 611,978
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CH9l: 0HS 2212

Solastds EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OYIIHFIS Jb= deiaE N (2)
4,600,000& 4,600
= 1,380
Al 3,220
ge=ols K& 2,000 2,000 0
Il 1,400
S 0
Al 510
301 LEtE N = 2,000 2,000 0
) 1,400
== 0
Al 510
01 A2 HSFS(RNEERTHE) 2,000 2,000 0
Ooge=ols K&
2,000,000& x1E*12] 2,000
) 1,400
& 0
Al 510
HEAYSL =S 137,000 97,000 40,000
= 13,700
Al 123,300
301 EetE2 NS 137,000 97,000 40,000
=S 13,700
Al 123,300
02 ARSI S2E AT S(FIANS, XLETHE) 137,000 97,000 40,000
Otgsg &5 X2 137,000
OlEsle g8 853
450,000 x25E « 12 135,000
= 13,500
Al 121,500
-HERE OtsE3 7l
1,000,000 x2H 2,000
== 200
Al 1,800
A ssgs N2 37,580 39,510 21,930
= 3,798
Al 33,822
301 EtE NS 37,580 39,510 21,930
= 3,758
Al 33,822
02 AR 2HASFS(HAAS, XLHE) 37,580 39,510 21,930
OJERIE stasgs N (53)
37,580,000 37,580
s 3,758
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FA SIS
M s|Qls OIS =X A
&l OtsoHYSHEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2
Al 163
03 A=Y 450 0 450
OJEIE/ M=t BRUS
450,000 450
[ 360
= 13
Al 7
202 0o4dl 1,300 800 500
[ 1,040
== 40
Al 220
01 =LHA LI 1,300 800 500
OUELLR-TESJE-EE)
650,000 x2&H 1,300
= 1,040
& 40
Al 220
301 EtE N = 5,050 7,000 A1,950
= 4,040
< 151
Al 859
01 A2 HSFS(RDNEERTHE) 4,610 7,000 A2,390
FEUA0IE 2R8I, MEIASH HZ &
JIEHKIAH] 4,610,000& 4,610
= 3,688
== 138
Al 784
11 dAMEBIXIZE S 440 0 440
OJFELIE/ SR $20S TR0 &
Jtl 10,0002 20 * 12| 200
[ 160
== 6
Al 34
OJE g/ M= BRRUT S4l
9,000 <202 *12 180
[ 144
= 5
Al 31
OJIERIE/AI=2e] R20S 2HAH]
3,000&+20& *13] 60
[ 48
== 2
Al 10
2a0tsodsetdd 48,359 58,196 A9,837
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ma: 5|oQl OlS =K AH
el ES0lsoldsstdd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OlSESEEII2 28013/2F) 36,678 33,803 2,875
308 XXM SOIA 36,678 33,803 2,875
07 AX R FE= 36,678 33,803 2,875
OaJIEF0tsSE 2|12 29 B52
36,678,000& 36,678
OISESEEI2 SAN S+225E 2,598 2,989 A391
308 AHRIEHMSOIE 2,598 2,989 A391
07 HXHH 252 2,598 2,989 A391
OZFIIL=F0ISESTHEI|Z SAL S22
S F8= 2,598,000 2,598
OlsEsdEI12t o1Ad| It K& 9,083 15,561 26,478
308 XXM SOIA 9,083 15,561 26,478
07 AX R FE= 9,083 15,561 6,478
OBJIF0tsESHEI|& 28] FIt X
o 2Es 9,083,000& 9,083
HH2LIHI(ALBI=XD) 331,548 307,868 23,680
= 166,774
= 11,372
Al 153,402
JI2ZHI(AtsI = X1 26,940 28,600 1,660
JI23HI(ARIS X1 26,940 28,600 1,660
201 et 3| 18,720 18,800 280
01 AtR2tc|Hl 18,420 18,000 420
OFNESE AR 22/ 17,100,000 17,100
OgAr X2 X222l 1,320,000 1,320
2 s5=34l 300 800 A500
ORVRS(SIIRHLtS )
300,000 300
202 04| 3,000 3,000
01 2K 3,000 3,000
OgRF JI=0iH](4Z)
3,000,000& 3,000
203 HR=H] 5,220 5,100 120
M EA2HER=AH 5,220 5,100 120
ORN2ELRFTHI(37Y)
435,000 128 5,220
QI 2HHI (A2 =X 304,608 279,268 25,340
[ 166,774
= 11,372
Al 126,462
FHOUNHE OtsSEMHIA XA (Q124H]) 170,574 146,518 24,056
= 109,670
< 8,225
Al 52,679
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SA: ASIZXID
M HHE2HHHI(AEI=XID)
CHRl: I R29H| (ARSI R
SA - B GR(31) - HIRAY - BES il &k e HlmS2
EEEERS!
(20,2702« 12A12++4 3 )+(20, 4502 x 12 A1 248
) 2,937
= 2,350
= 88
Al 499
R UPNE S Sy
13,6302 xBA| 2t 12 1,309
s 1,047
= 39
Al 223
-HESIHI
(2,822, 1702 *60%)+(2,848, 5202 +60%) 3,403
s 2,722
= 102
Al 579
OotsEsdgoldd oAH|(EA=XI2, 115
s/1288) 41,195
-Jl=2g
(2,795,8202x92 )+(2,822, 1702 +3& ) 33,629
s 26,903
& 1,009
Al 5717
-HEI2Esy
(20,0702 x12A12++9& )+(20, 2702 x 12 Al 2++3
) 2,898
s 2,318
& 87
Al 493
-HiRERIIE
13,5102 xBAl 2t 12 1,297
s 1,038
= 39
Al 220
-GEFOH|
(2,795,8202+60%)+(2,822, 1702 *60%) 3,371
s 2,697
& 101
Al 573
34 HAFRESS 10,630 10,630
04 SREA(PIIHL) 22X BE8e8243 S 10,630 10,630
O=0AZRGZ(BA=X2, 2Y)
3,660,000& 3,660
Ozt & IQABE 23 (BA=X2, 2
%) 3,250,000& 3,250
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